


Ny i f 7
-— —
A=+ . T= Lo 4%
4 s
\ A=7: 1= % (x,,(gZ)TG—(fZ l
A K2 0 ><4~+><Z_C4§
Azﬁ'“cv.nr
f
(g 0) f,,"’ro“> 2
L 3 3
A=%: T = § xel@’|x%0 ZxE
c 7z 4

+ & Z/—JL MIMM

F (T) = ¢  offune dinwoeh

£

+ 2 X=F (%) = >‘o+§_§ el

c



—éél‘% MIMM
E LD =1¢ cctlime dimaod

+ 5 X = fi(%’) = [ Xl + 65,567_
£ Rsr aerlicer £, Pz, Px

—

Xy = @4 [ ® [00) > @

> = ( szﬂ)-g) T2 (4.0) <> Pz
T3 (014) 2=> @)3




= 2
i B ((jwl(% + (v, | 1—((—.%((%

- (F)= 2 (F(5))

| - ( £ U B~ u&frs f[«r(

(f ,f

Cw-T, ul, , £ (3101 let®l™

—

12 S
[w-"Lw\,
AT

\ = M| elet 1172

AT T
(w - T u,\(,l‘_l,




+\fb



Aernnot
=T < 7
[ w-T _U,,‘T~ e[ /%_[_
EareNE: Put <
T Al @Zﬂ 7(9 w{[‘)tT
| u L < I B M&(J/Z
[l

4

Z &



Ly cal. ertror 2R Ll

7.
<
_—T M/U"/‘f/’ - -
4 ?M
(&5 7L
B oLt B [C/[Z[T
|
I( [%
SN '{/ (%(z,e
Z
"zﬁ,a
u (
-SCARPLEE CARIN S
§ /--7-S € %_



5. Luul error eslimol
TN —— . — — —

—— 2 — 2
_ = e (

I w-T o] E—g’ w- T 00
— L

[{u,~j_w(¢((4é6_r A lwl,

-::_'G;
6';(—>°Q 4 %— (/wlﬂ—l‘w-b‘am%

oca,f—ﬁoo

‘ ety

[(w-w, U £ 6y A lul

W* op leanal



(| w — U, = c 6], A?“ et

Le:a,'é /Z&V\A/MAOL'-
[(w——uwc[/l < cmww——v\[(/,

e Lo o€ Lopne

(- uw, l &c wld (n—n(
Sl I EF

/%M—- /%Z@oét- ’T;’Y;CQ/

O






